
AR 
a B 10th, 12th, BA,MA, B.Sc, M.Sc, B.Com, M.Com,Bilisc 

B.Ed, B.PEd, M.Ed, M.P.Ed, D.ELEd, LLB, LLM 
PTaf, Paramedical, GNM/B.Sc. 
BBA, BCA, MBA, MCA, B.Tech, M.Tech, Ph.D 

HALDAR GROUP(MAR) ww.haldargyoup.org 
GoVT. REG. No.: V-1903-00118/2022 Admisslon 7044064045 

www.karmosangsthan.comn 
Vol. 36 lssue No. 428th January 2023 Saturday KolkataR.N.I.44167/88 

ICE Academy 
797 7 e1.a oifi ( o1-f1 9 3t Brefe uraAdmission 2022-23 

GNM 
2,50,000 

: ( 

3- A-TtTE 7a ffI FIANMIGNM eiIb|| 
TTR (RTTACTSI TR A7a AOnline3 Classroom 

R3,50,000 
Nilachal Institute of 

7 37 TA-AÍG fa: 7 4 21A (A1 ANursina & Health Sciences 

8 , 
CG SLST (PT), TET, 

4ICS MTS, TRG 
786-400-2150 
97348-65456 

T DeR B ANM & GNM 
aifare ra613 At7S2Gulde&Practice Sets 

JENPASICDS 
Practice RTE 

WBP KP PSC 
nfureiB1. oeb1. CHALLENGER 

fergm)TaTOI, FTT, 

CDSICDS S 

S0 

ICS-93az fa 
a 36 95% 9 

786-400-2150 
o 97348-65456 I, MFT7 6 TTTT IR-ITEN Kamal Hossain Coaching ClassesON 



WBCS, BPs, SSC fcn coforsa 5 tetre 4 AATAÍA ÍACH1S 

Previous Batch Mrs. Maity 
Dum Dum Ph:98741 21627 * 40 X1" 2, aÍ771 zre|| , S.V 4, 3ad 4 e Go LC-BDBL 304 

SHIA) 

14K, T n |27,300/-64,700/-. PF| (13K-22) 
R :86192142 oo/-TUR TRI CI Form Fill up cKr |CalWhatsapp-7076041814ESI. 9434565153 

zfefrs sTe1 T|7AT RR T A UGC| :2150 
C&7 R ATSA C|| FT ADIRECT JOINING| BSc. MA, MSc. B.Ed.DRE 

TTaR ATICE, MBA, MCA-|GOvt.R. No- 63751 
43300 -A 

-17-43. PE 
ESI, SC. ST.CB| a eHI Bright$TTTEe TIE (7/WESEDCL-s u||BANK-AIRPORT 

2T)172 MF i 5 o oo3 
A:oabiezo DPT, ECG R T8373010007, 9932233506 :21,700/--52300/-) T: M.P T Future.: eTR, JTT41-

A 
11-197I Ex-f : 76./00 42.800 1||o a caFT E 

7T-9474517076 
Ex-ArmytZ ML7 7 a 575| (ATP) DPT (ffs sTKefM), ECG 

4 ANM (FfAt) e Whatsapp C.V 1Z 
SA Mob:8537948389 17000-46000), PF.ng ai4 Z 54 ESI, BONUS-7 

71 Ex-Army LCNO-WBSKT6 7 
M:943632143|23 Pt. Bank FSE, aTa. Tf RATHR Tafe|ACCOuntant minimum 03 

Es, X-Ray iA ef TCE "TETI STE, QYyears experienced needed CS t 

CBMC 8697893849, 32. .*-84, 45A 
Surya Sen Street, Kolkata-g TOS 

at Women's Interlink 100 % 37 TIaTE:|||TCTTT e J 
SADSA-PBack CFe £7| 

roundation with proficiency R R |Govt. Bank, 

aary253 F 

Govt. Bank-s F z7 
7439213900/8272911322 ay. preparing handling75 eTTs rTE 7TË Tz-T MF 

SA5Udget and monthly P.V.T TE (D.S.A) ||*5 :22.000 

ACCOuntng. BRS. Balance|| T 45.700-. PF, ESI. OT, 
sheet. FCRA, TDS. GST 
MIS etc. Address- 2A. 
Ballygunge Place East. 

CM 

M:890285956o .7ESI, PF 
M:7802253222 

MF (18-36) 3 
/ET. F:.-| NCOT 1422-
22,000 P.F, E.S.I. OT 8381331204. 8479947154. REB en F SE RI R FE EI||Kolkata- 700019, Email- AlH disputes 

wifkolkata@gmail.com regarding sales and 

37 7384115087}| advertisement 
SA of all publications of 

Sangsthaan 
TST PRI T T PTII R 

E sTS ZB AT STE TUTR|(12F )Future Group||57 TIE TE 2T 
Prakashan 

zT T Fra |! Pvt. Ltd. are subject of Company. z1M1 
8670417692/9002223933 
(10am to 6pm). 

to Kolkata 
TE.TE. - , SB, r, 15RTSR ,TU-S 

-7 PRR)| Jurisdction only. -7*. 

T : o (5E S3, . i, 4R7 so, 

..7. , TETT: , Z0 *) 

(GEZT AA). () 



astta PRER KARMASANGSTHAAN Vol. 36 lssue No. 4 28 January, 20233] 

34+Candidates finaly Selected in 
PSC MISC. SERVICES 2019 

It's a matter of utter pride being a student of Academic 
Association. This institution inculcated and infused in 

me knowledge and confidence with its briliant mode of 

Teaching. Specifically I want to mention Samim Sir for his 

honest endeavor and versatile knowledge which helped me a lot to secure 
thisjob. 

Block welfare officer Backward Classes 

Welfare 

TAJMIRUL HOQUE MIRDHA 
Revenue Inspector, PSC Misc. Exam - 2019 

The way Academic Association guides for the 

personality test from the basic is phenomenal. am 

very much thankful to them for adding the linishing 
touches to my preparation to remove the ominous 

unemployed tag. sUDIP DAS, SOI & BWO, PSC Misc. Exam -2019 

Sudip Das SamiruI Isiamn Abhijit Das Sarthak Guha Bishal Das 

Assistant Programing Officer. 

I started my preparation for competitive exam in 2017 after 

Completing graduation Since then I immerscd mysclf in 

studies. The path was not smooth and easy. Spccially 

during Covid -19 pandemic lost my contfidence 

completely but didn 't gave up. 

The grooming classes here gave me a clear idea about 

every aspects of personality test in mock interviews. 
ABHIJIT DAS, Block Welfare Officer, PSC Misc. Exam - 2019 

Debabrata paul Md Abir Hossain Gazi Krishna Gopal Das Tarique Zaid 
- Controller of Corectional Services Consumer Welfare Officer 

wadha Chakraborty 

Ramiz Mandal. APO psita Roy. Ar° Mainak Chakraborty Gourab Pal Debasish Kumar Raksht1 
am very much thank ful to Academic Association for 

guiding me through their mock interviews and scheduled 

classes to get selected in this exam. 

KRISHNA GOPAL DAS, Assistant Programing 

Savings Department Officer Revenue Inspector 

Officer, PSC Misc. Exam - 2019 

Sucheta Ganguly Ananya Chaterjee Saswati Chowdhury warnall Si Dipanjan Chaxrabarty 

GIPIG WBCS PRELIM 2023 Revenue Inspector 

WBCS-2023 asTT J 51 
Abdur Rahim ajmiul hoque Mraha Md Samim Ahamed Aroya Bagchi Md Salman Hossain 

WBCS 2023 :PRELIM MOCK TEST SERIES Auditor of Co-operative Societies 

x757 9 (Published by Mc. Graw Hil)II eIs RPT SIMTS 0R 

CD3 fTTAM SHU VST Sylabus T796351476821 C3 Whatsapp 
Adtya Ghosh Nafisha Ahamed Marufa Sultana Archismen Pramanik Rajesh Samanla MunshiNaushad Hossain 

TH0-e 8 9th February, 2023 

ACADEMIC MAINS CLUB For WBCS 2022 Mains 

Visit our Stall No. 528, Gate No. -6 
at Kolkata Book Fair 2023 

Enquiry: 9674478644/9038786000 191Td ATA (afA1) WBCS e R 2024 

TO BE PUBLISHED ON 
OTH FEBRUARY, 2023 

HURRY UP 

H re eera 

WBCS 
CANNER cONCISE 

CURRENT AFFAIRS 
Meurcok2023 

PDATFD aVISED T CatSRO 7-wWW.academicassociation.com 
srmRG Cafsr-taa a afa-27.01.2023 

4 E AR 9038786000 
" WBCS-2024: 9 TJ6 ETË 5ECR ddwe 

(033)79650408 
9038786000 

CAD (TT AE), 741-9000 II GCA HRD 8 www.academicassociation.com 

Main Branch: College Street -9674478644 I Study Centre: Berhampur -9474582569 Barasat -9073587432 Uluberia 9051392240 

9674478644 



4KARMASANGSTHAAN Vol. 36 lssue No. 4 28 January, 2023 LAKA 
1,When tihe prico of a brand of 

Taperorcoder was increased by 
20%, the number of pioces sold 

decreased by 12.5%. What was 
(A) 120 km. (B) 75 km. 

2pTA, 10n- - 26. zix =2 , B 

TbaA T=9% =92-18 19(D). 
(C) 250 km. (D) 150, km. 

15. Two taps can lill a tank in 12 hours and 

18 hours respectively and third one can 

empty it in 36 hours, If they are all opened 

together, when will the tank be full? 

the percent offect on the sales of 

the Taperecorder? 
(A) 7.5% increase (B) 7.5% 

decrease (C) 5% increase (D) 
-20-

4.5% increase (A) 9 hr. (B) 8 hr. 30 min (C) 8 hr (D) 7 hr. 1, =20 1, 20 e, x = 

2. When Rs.210 Is divided among 
30 min. 

A, B, C so that if A gets Rs.2, B 
gets Hs. 3 and it B gets Hs. 4, C complete a piece of work independently in Aa TA UA 150 D1 IA :B -150: 100 

gets Rs.5 what is the share of A? 

(A) Rs. 42 (8) Rs. 46 (C) Rs. 40 together complete the work? 

16. A works twice as fast as B. If B can 20x3 60. 10(B). B7 F 100 s 

12 days, in how many day can A and B = 3 2. J 2300. 771 

www.bopter.gov.in (D) Rs. 48 
3 3 = 450 DrI I111(B). (10i5 (A) 18 (B) 6 (C)4 (D) 8 

3. A man bought a clock listed at 17. If 5 men can do a piece of work in 6 
+ 613 T1)-s PT = 30x 16 480 Rs. 400. He was given 

successive discount of 157% and in how many days can 3 men and o 

10%. What did he pay for the 

days and 10 women can do it in 5 days, 
616 TUM Ta = 50 x 6 = 300 DrE ITE 

Women do the same piece of work? 10t3 T= 480-300 = 180 BITR 
clock? 

FqTUI, PUTT; I FNRTFN fUT`ST OCA(A) Rs. 360 (B) Rs. 300 (C) Rs. 316 (D) Rs. 306 
UTS T Aka 9A,4. 3 A. IAT 3 RTNCR4. Ashim took a loan of Rs. 15,000 for 3 years get an average of 44 marks. If the 

(A) 3 (B) 6 (C) 5 (D)4 
18. In a class of 22 students, 21 students = = 18 BreT 

simple interest. If the total interest paid is Rs, 2,700, remaining student gets 66 marks, the 12(D). 13(D). 701 24,5 
JeR7, TEIREI RTA AM/ A/ TATA then what is the rate of interest per annum? 7T 30. TTA R*T1 120 (24+30) = 

average marks of the whole class is 

(A) 46 (8) 52 (C) 45 (D) 48 66. 4A2, 15577 T7 C, TA (A) 9% (B) 12% (C) 15% (D) 6% 

5. On sports day, if 30 children were made to stand 19. 400 mangoes were purchased at the 
in a column, 16 columns could be formed. If 24 rate of Rs. 125 per hundred and sold for 

children were made to stand in. a column, how a profit of Rs. 100, what is the price of per 
C==15. 71, W==50. 

6 

many columns could be formed? dozen of the mangoes? 5T 
ra fRCR /PT A/ SITAAT (0oo (A) 25 (B) 39 (C) 20 (D) 45 (A) Rs. 15 (B) Rs. 16 (C) Rs.18 (D) Rs. 20. 24 x 60 30x 50+ 66x 15 

6. Subhas 'opened a shop investing Rs. 30,000. 20. If a train running at 72 km. per hour 120 
3TgtaDT A TITG fers ao10, ATG os,Manish joined 2 months later, investing Rs. crosses a coconut tree standing by the 

side of the track in 7 seconds, what is the 
-1440+1500+990 = 3275 32 45,000. They earned a profit of Rs. 54,000 after 

completion of one year. What will be Manish's length of the train? 
share in profit? 

(A) Rs. 36,000 (B) Rs. 54.000 (C) Rs. 30,000 (D) 

Rs 
7. The ratio of boys to girls in a school is 5:2. The 

120 

14(B). T7 7I UIA 7 Y 7 225 
(A) 104 m. (8) 140 m. (C) 504 m. (D) 540 m. rDI(OT 200 faraDE s 

tCa) 1 T 1 7 T 7V 125 

ADA (TR 100 1 Ara), 25,000 SCTRTG: http://dodl.klyuniv.ac.in fI: TET 

number of boys is more by 450 than that of the girls. 

How many students are there in that school? 

(A) 300 (B) 750 (C) 1050 (D) 950. 

1(C). afeit cbA eA TA 100 DI 
e 10001 c ÓN RIT Z, 1001T 7 OTI (TOr3 50 aaDT3 
100x100=10.000 dreii g7 aot ACa) I 
Cot T 20% TYT fuid cot T 3 

8. The present age of A and B in ratio is 10:9. If 

after 6 years A will 26 years old. then what is the 
100-20-120 Drel TT RT 12.5% 

AF 3 87.51 BIERTA 87.5-A T4 
120x87.5=10,500 DrII %a D 

10,500-10,.000 -500 I AMI TIRT 

present age of B? 1 

12181 36 fi A 77 1 

(A) 18 yrs. (B) 20 yrs. (C) 27 yrs. (D) 22 yrs. 

9. t 20 is subtraced from a number then it will be 36 
two third of the total number. What is the actual 

number? 

(A) 90 (B) 120 (C) 12 (D) 60 

10. A's salary is 50% more than B's salary. If B's 

(500 x 100), 100005% AI 2(D). A : B =2: 

3B:C= 4 :5 TRA:B:C=8: 12 
4 

RTA 36 11 a9 T 
16(C). A, Ba STTSIBE 
12 AA, A F 6 1M75 4A 

of (C a, EraTt 3, zzt , eAM. 8,297. ) 
36 

salary is Rs. 200/- then what is the salary of A? 

(A) Rs.350 (B) Rs.450 (C) Rs.150 (D) Rs.600 

11. The mean price of 10 books and 6 copies are 

8 
15 A-3 A A bATR 

efg :os/0R0. 
fa zra 210x 48 GI 3(D). 1RA TfR,12 E1 FF 

Rs. 300. If the mean price of copies are Rs. 50 then 
www.nbccindia.in g D -(A TS, 4PFCE UAI fD M 3 4 fTAI 17(C). 1 A FT 56 1, 30 

what will be the mean price of books? 

(A) As. 25 (B) Rs. 18 (C) Rs. 32 (D) Rs. 22 
400x00-15 

100 
T1, 50 I DRTA 3 5 

A I A13 e5 
1 (5+5) = 10 aid 5 faAI 
18(C). 21 AI y A3 44| 3 

100 
12 3-18-5)-4-3-(2 75 100 

(400x85x90) (100x 100) = 306 DrII 

4(D). 3 eM 73 7 2,700 I RU,1 is equal to 

15 A1 3A 900 DrII 15,000 DRe 
1 900 Bre 6% 715(C). (66-44) 22 T I22-T Ta 

(30x16)+24-20 TT F7I R 

1 (D) None of these 

13. In a group of 120 people, one-fifth are men, 
T 22 * 22 ATI AA. one-fourth are women and the rest children. The 

average age of women is five-sixth of the average 

age of men. Average age of children is one fourth 

of the average age of men. If average age of men 

is 60 years, what is the average age of the group? 

(C). 

4,50,000, RTA TO IC 
TA ITE A 4:5, 3, 54,000 r 

30,000 12-3,60,000. wTR 45,000x 10 Tg T1 44 + 1 = 45. 19(C). 400 

ATCA 1 (125x4) DI = 500 D1IATDA 
100 DTEI TSA N T 
(500+100) 600 II9eiT ATAA Aa (A) 50 (B) 45 (C) 38 (D) 32 

14. A distance of 425 km. separates two trains 
ITG (54,000-9)x5 = 30,000 9* 

T 1.50 DI URI VA ait TA 
moving towards each other at a speed of 200 km./ 7(C). 5x-2x+450 3x-450 . TT 18 Dr 20(B). 72 aTADN hr. what wll be the distance between them after 

RE, 3 U *, 27 I Tula, 7O-9&0| i 1 hr. 30 min. If they reduce their speed by half, 

x=150.814TF CAG BTA HR5 5x150=750 

RISIARI 2x150=300 AI AT TE- To 7 AATE TI 7ADR I, 
371 T: 750+300=1050 T8(A). AT 

72000 
Ph: (033) 40007277. 

every half an hour. 
140 AD 
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40. Which sentence should come 3A ZTA 1o India's great relationship'. 

FOURTH in the paragraph? 6(A). 'Not only they have' 'Not 

only have they'. 7(C). 'Professionals (A) 1 (B) 2 (C) 3 (D) 4 

41. Which sentence should come LAS776TA I TR VIAa f 'asks' qa 

in the paragraph? 'ask' a1i 8(B). 'in the simplest of 
(A) 1 (B) 2 (C) 3 (D) 4 

Direction (Qs. 1 to 10) : Read the 
following sentences and spot the st ayone thinks (B) Lest anyone should thinkrectuon (Os. 42-46): In each of the sentence' qL in the simplest of 

sentences' AI 9(C). 'with persons' 
it is true. 

error, if any, in one part only of each (C) Lest anyone thought (D) No improvement which g are E denoted by 1, 2, 3,4 and 5. By KA to persons' 10(D). 11(C). 
sentence. The parts have been required 

marked A, B and C in case you do not 24. He had no other choice but to resign. 
find any error in the sentence, your 
answer will be 'D'. 

1.I had guessed (A) that one of these 

women (B) were going to be operated (A) stay to dinner whenever (B) stay for dinner if (C) 

upon. (C) No error (D). 

TiDTE civic administration 3 fFrR 

(noun). J JI qualify3 ACAI, 
far-facra 7 I45 'efficiently 7 

AC'efficient' 4| 12(D)., 13(B). The 

Indiansaie,5UAM 15I3 
aA17 is-94 7 'are' 1| 14(A). 

using all the five words, each only once, 

no choice than (B) no choices but (C) no choiceU 
nave to trame a meaningful and 

(A) no choice than (B) no choices but ()no cnoice grammatically correct sentence. The 

but (D) No improvement required correct order of the words is your 
25. You can stay to dinner if. you like. answer. Choose from the five alternatives 

the one having the correct order of words 

and mark it as your answer on the stay into dinner if (D) No improvement required 
2. Once we get the link thread (A) of Direction (Qs. 126-130) In the following 

his thought the poet doess not remain 
(B) as difficult as he appears to be. (C) 
No error (D). 

answersheet. 1iot 'since last June' F T 
sentences, a word in each sentence is undenined 42. (1) smart 
ror the underlined word, four choices are given. 

"4. (\) Smart (2) ambitious 

Choose the word nearest in meaning to tne undenined 
(A) 41325 (B) 35421 (C) 51324 (D) 541S2 

been playing. 15(B). 71EO During 

Present Perfect continuous tense-43 

(3) and (4) is (5) Puja O'we play' AZA 'we have 

3. Itis better to travel the extra mile (A) 

in search of peace (B) than live with 
unending tensions. (C) No error (D). 

4. A writer of international renown he his interviewed 

part and that will be your answer. 
43. (1) Pencil (2) a (3) good 

(4) need (5) I 
last days, ATT WOtT AIT T gTAI 26. The spontaneous appause from the audience 

encouraged the artist 

(A) noisy (B) cheerful (C) normal (D) natural 
27. A ferrid farewell speech was the highlight of the 

(A) 21345 (B) 54231 (C) 21453 (D) 23145 5TR (aINZRI GR Past perfect 

continuous tense-gTAI354T u 
(A) the most exalted (B) as such as the most infamous. 

(C) No error (D). 

44. (1) good (2) not (3) movie 

(4) the (5) is : During last days I have been 

(A) 25431 (B) 43521 (C) 21543 (D) 41523 trying continuously. 16(A). T4s 

"ast 10 ATT TTR, Td 
a ITR 37: when I last 

function. 
5. His life is a living.monument with India's great. (A) formal (B) inspiring (C) enthusiastic (D) energetic 

relationship (A) with the West (B) ever varying yet 28. His personality reveals the anguish of an 
45. (1) wanted (2) there (3) stay 

6. Not only they have enriched (A) the cultural life of (A) critical (B) questioning (C) reasoning (D) Cynical 46. 21453 (1) picnic (5) 2641 (2) we (C) (3) 41532(D) thoroughly 45182 

(4) we (5) to relentless. (C) No error (D). inguisitive and restless mind. 
saw him..17(A). aRA Enquiry in'-93 

our people but have also made memorable (B) many a 29. Sometimes the thought or idea is couched in a 

friendly and family gathering. (C) No error (D). 
7. That is a question an increasing (A) number of (A) expressed (B) shown (G) impressed cooured Direction (Qs. 47-50): In each of these 

4) enioyed (5) the 
3 "inquiry into' qitaI 18(C). aTed 

riddle-like construction. (A) 12453 (8) 53124 (C) 34251 (D) 23451 Present Perfect Continuous tense-4 

R 9 from' I0 for taI19(C). 
30. Hardships and sufferings could not subdue his 

questions, two sentences are given. Tda a7 1 O IA (proved). 
professionals (B) asks these days. (C) No error (D). 

8. Her greatest gift perhaps is the ablity to weave story, indomitable spirit. 

poetry and magic (A) in the simplest of sentence (B) so (A) undiscipled (B) unyielding (C) rigid (D) unearthly 

that reading is and effortless pleasure. (C) No eror (D). 

9. All characters in the film are fictional (A) and have no are blanks, each of which has been numbered. These 

resemblançe whatsoever (B) with persons in real life. 

(C) No error (D). 
10. Not only did they not (A) allow the probe to extend blank appropriately Find out the appropriate words. 

These two sentences are to be combined 3RTA1E witness, past tense-d 

into a single sentence without changing 
Direction (Qs.31-36): In the following passage inere their meaning. Three probable starters of 

'witnessed' qT M | 20(D). 21(D). 

ssage and against comoined sentence are given as (X), 22{A). 23(8). 24(C). 25(D): 26(D). 

each, five words are suggested, one of which its the 
and (). Any one or more or none of27(C). 28(B). 29(A). 30(B). 31(A). 

32(A). 33(D). 34(D). 35(B). 36(C). 37 them may be correct. Find out he correct 

o politicians but also (B) ignored the need for drastic Like seedless oranges, Japanese agriculture Sarier(s) ana accordingly select your 

systematic reform. (C) No error (D). 
11. I personally feel (A)/ cleanliness in the city (B)/ is varieties of watermelones in 1951. Researchers 
one proof of the efficiently civic administration. (C No working at the Indian Agricuitural Research Institute, . ne aways delays in taking any action. 

error (D) 
12.I see you (AV in Kanpur during my next visit (B)/ in variety and 31 it Pusa Bedana. Taiwanese scientists 

researchers were the first to develop seedless 
dnswer irom among the given four 

answers. CRPZ: The day of the interview arrived. 

It makes others suffer a lo. Sharan was well prepared and 
Pussa, New Deihi, have also produced an experimental X confident He answered well to all the (X) His taking action on time makes.. 

quesitons put by the panel members. 
the month of May. (C)/ No error (D) nave also developed a seedless variety. 32 the ners Surler a lot because of... 

A week later he received the letter of 13. ACcording to me (A/ the Indians in general is (B seedless varieties have not 33 the stage of commercial (A) n X, dccount Y and Z (B) of his X and procrastination... Y (C) Y and Z 

appointment. Sharan started dancing not a vigilant and security conscious people. (C) No cultivation. Some varieties 34 contain seeds in 35S 

error (D) 
14. We play (A)/ tennis together every morning (B) Traditionaly cultivations of watermelons in confined 

since last June. (Cy No error (D) 

15. During last days (A/ was continuously trying (B) to almost all types of soil. Light sandy and well-drained 

contact you but you were not available. (Cy No emor (D) fertile land is ideal for watermelons. 

16. When I last see him (A}/ he was (B)/ in Calcutta. 

(C/ No error (D) 

17.A detailed inquiry in the incident (A)/ has been initiated 32. (A) however (B) like (C) If (D) when 

(B)/ by the Central Goverpment (C)/ No error (D) 

18. The historian has been working (A)/ on the project 34.(A) who (B) when (C) here (D) short 

(B) from last 12 years.(C No error (D) 

19. The last year proved quite bad (A)/ as major industries 36. (A) for (8) on (C) to (D) in 

(B/ witness lot of problems. (Cy No error (D) 
20. A lot of money is wasted in (A)/ the duplication of sentences 1, 2, 3, 4 and 5 in the proper sequence so 

work (B)/ in any organisation. (C)/ No error (D) 
Directlon (Qs. 21 to 25): Look at the underlined part questions given below them: 
of each sentence. Below each sentence are given three (1) Sharan started dancing with joy. (2) The day of npressive. we changed our plan of always. 48(A). 11 7 Dcomplex 

possible choices for the underlined part. If one of them, the interview artived. (3) He answered wellto al the 
namely (A), (8) or (C) is better than the underlined part, questions put by the panel member. (4) Sharan was he qualuty of tne fabric being.. 

that will be your answer. If none of the choices improves well prepared and confident (5) A week later he we changed our... 

(D) X and 2 

48. It is very cold here. You must carry 
numbers are available in the market at times. with joy. 37(B). 38(D). 39(C). 40(D). 

41(A). 42(D). Puja is smart and 
warm clothes with you. 
(X) Since you must.. 

(Y) As it is very... 

(Z) lf it is very.. 

mostly 36 river beds. but not they can be grown in ambitions. 43(B). I need a good pencil. 

44(B). The movie is not good. 45(C). 

We wanted to stay there. 46(D). We 

thoroughly enjoyed the picnic. 47-50 
31. (A) called (B) announced 

(C) shouted (D) given (A) only Y (B) only Z 

(C) only X (d) X and Z 

49. You need two tickets? Please stand in 
33. (A) started (B) begun (C) open (D) reached 

the queue. 

(X) If you need.. 

(Y) In case you need.. 
fefou SIT 9T TA: () other 
suffer a lot because 

action in delay every time. (2) On 

account of his procrastination 

35. (A) big (B) small (C) large (D) countless 

his taking any 
Directlon (Qs. 37-41): Rearrange the loloWing nve 

(A) only Y and Z (B) only X (C) only X and 

Direction (Qs. 37-41): Rearrange the following five () Snould you need... 

as to form a meaningul paragraph; then answer the sO 
(D) only Z 

50. The quality of the fabric was not (9OT3) it makea others suffer a lot 

sentences TCY YA TA: As it is very 

cold here, you must carry warm clothes 

with you. 49(C). gRTA CTYI TA 

TSI: (1) If you need two tickets, 
(Z) In spite of the unimpressive. 

the sentence, your answer will be (D). received the letter of appointment 
21. Ifthera ware no bad people there would be no good 37. Which sentence should come FIRST in the A) ony 2Z (8) onty Y (©) only X (D) X and Y 

lawyers. 
please stand in the queue. (2) In case 
you need two tickets, please stand in paragraph? 

(A) f there was (B) If there will be (C) It there is (D) No 

improvement required 
22. This intricate work demands that Lathigra acauires paragraph? 
great dexterity with his hands. 
(A) that Lathigra acquire (B) that Lathigra should acquire 39. Which sentence should come THIRD in the he ink thread RS The linking thread',. plan of purchasing. (2) We changed our 

(C) that lathigra acquired (D) No improvement required paragraph? 
23. Lestanyone think it strange, let me assure you that 

(A) 1 (8) 2 (C) 3 (D) 4 
the queue. 50(D). 9TGA CTYI T 9 
TT (1) The quality of the fabric 

38. Which sentence should come SECOND in the 1(C). iCTR NCOT 45-TTDAI 
Ma IH were' AI A was' z12(A). 

(A) 1 (B) 2 (C) 3 (D) 4 being unimpressive, we changed our 

3(D). 4(C). 'as such as RA 'as much 

as'. 5(A). 'with India's great relationship' 
plan of purchasing as the quality of the 

(A) 1 (8) 2 (C) 3 (D) 4 (Db)5 fabric was not impressive. 



1. A Quasi-static process is also called K KARMASANaSTHAAN Vol. 36 Inaue No, 428 January, 2023 (a) Isobaric Process (b) Isothermal Procoss 
(C) Reversible Process (d) Cyclic Procoss 

2. In which process work done is oqual to hoat transtor 
(a) Isobaric (b) Isochoric (c) Isother mal (d) Adiabatic 

3. Change In entropy dopends on 
(a) change in temperature (b) change In speclfic heat 

(c) change in heat (d) change in mass 
4. What is the emperical equation of Vanderwalls for real 

gases? 

aP Vb) - RT () |P, +b) RT 

(cP V-b) = RT (d) (P a) (V-b) = RT 

5. The unit of entropy is 

(a) Jkg-k (b) N-m (c) N-m/k (d) JN-m-k 
6. Internal Energy otl a gas depends on 

***************". 
* ***** (a) Metal removal rate is high *** ********** ***** ******* 

(a) Pressure (b) Volume (c) Temp (d) N.A. 
(b) High surtace finish is obtained 

(c) High form accurecy is obtained 

7. Which of the foilowing is intensive property? (a)(6) c) 2 (d) y2 
(a) Heat capacity (b) Work Done 

(c) Kinetic Energy (d) Specific Heat 

24. The length of column having less than 8 times their diameter is 

called-
(d) High dimensional accuracy is obtained 

8. Universal gas constant is equal to (a) long column (b) short column (c) medium column (d) N.A. 
40. The main purpose of boring operation, as compared to drilling s 

(a) Gas Constant x molecular weight 25. Hooke's law good holds upto to 

(a) proportional limit (b) elastic limit 
(a) Drill a hole (b) Finish the drilling hole 

(6) Gas Constant / molecular weight 

(c) Gas Constant molecular weight 

(d) Gas Constant molecular weight 
9. 1f the heat fiows intoa system from the surroundings 

(c) ultimate point (d) breaking point 
(C) Correct the hole (d) Enlarge the existing hole 

26. Eular's formula is applicable to 
41. The B.M. of a cantilever beam shown in figure about fixed end 

(a) short column (b) medium column 2T 4T 
The quantity is said to be (c) long column (d) medium column as well as short column 

2m 27. The example(s) of strut 2m (a) Positive (b) Negative (c) Neutral (d) N.A. 
(a) Zero (b) 8Tm (c) 12Tm (d) 20Tm 

10. The absence of pressure is called 

(a) space (b) Black hole (c) vacuum (d) N.A. 
11. If the boundary of the system is impervious to the 28. A canilever beam carying udl over the entre span, the shear ratio is 0,25 and modulus of elastciy for the materal s 200 Nmm 

a) Piston rod (b) Connecting rod 

(c) Side link of forging machine (d) All of above 
42. Calculate the value of modulus of rigidity (Nmm-) i the Poisson's 

flow of matter, it is called-
(a) 50 (b) 80 (c) 100 () 1502 

(a) Boundary of the system (b) Closed System 

(c) Open System (d) Isolated System. 

force diagram is 

(a) rectangular area (b) triangular area (c) parabolic area (d) N.A. 43. Consider the bending equation given below, 

29. For a particular load distribution and support condition ina beam M E 
12. In an engine, the ratio of indicated work done to heat of length 'L the bending moment at any section x(0 < x < L) is given by 

supplied is known as 

(a) Thermal Efficiency (b) Relative Eficiency 

M(x) = Ax - Bx2 The term R is known as 

Where A & B are constant. (a) Mass moment of inertia (b) Area moment of inerta 

(c) Mechanical Efficiency (d) Overall Efficiency The shear force in the beam will be zero at (c) Radius of curvature (d) Shear stress 

13. Entropy of water when heated at constant pressure 
44. The limit of Poisson's ratio is -

(o) x2x =)x= d)x=L (a) 0.25 (b) 0.15 (c) 0.50 (d) 0.65 from temp. T, to T, is 
(a) (s - S,) = C, in (T,T) (b) (s, -S,) = C, in (T, T) 30. A cantilever beam of span 6 m caries a point load of 100 kN at 45. The ratio of modulus of rigiity (G) to modultus of elasticiy t ot a 

(C) (S-S,) = C,in (T, -T) (d) NA the free end and another point load W' at the mid of its length. If the material for a possion's ratio of 0.25 would be 

(a) 0.5 (b) 0.4 (c) 0.3 (d) 0.1 14. The change of state taking place without any heat maximum bending moment is stated to be 900 kN-m, the load 'W will 

transfer is called have the value 46. The phenomenon of slow extension of material having constant 

(a) Isothermal (b) Adiabatic (c) Isobaric (d) Polytropic 

15. The gas constant of 2 kg-mole orygen gas is 

(a).0.287 KJKg-K (b) 0.13 KJ/kg-K 

C) 0.25 Kkg-K (d) 0.2 KJ/kg-K 

(a) 50 kN (6) 100 kN (c) 150 kN (d) 200 kN oad, 1.e. increasing With the time is called 

(a) creeping (b) Yielding (c) Breaking (d) None of these 

47. What is the ability of the material to the resist penetration and abrasion? 

(a) strength (b) hardness (c) toughness (d) stittness 

48. What is the relationship between the linear elastic propertes E. G 

31. The chamfering is an essential operation after 

(a) Knurling (b) Rough turning (c) Boring (a) Thread cuting 

32. In Taylor's tool life equation Tn = C, the constants n and C 

16. For irreversible process, which one is the correct? depend upon 

dQ dO 1. work piece material (a) 0to) 0 () 0 () NA and K? 
2. tool material 

17. We get characteristic of perfect gas from 

(a) Boyle's law (b) Char's law 

3. coolant 
(a) 1.2 and 3 (b) 1 and 2 only (c) 2 and 3 only (d) 1 and 3 oniy 

33. A Lathe's bed is generaly made of-(c) Both a & b (d) None a & b 

18. The equation of Boiler is given by - (a) cast iron (b) cast steel (c) mild steel (d) wrought iron 

49. The reaction at the rigid supports at A and B for the bar loaded as (a) O = h, -h, (b) O = h- h, 

(c) W h,-h� (d) W = h- h1 

34. In drill brass, a drill with 

(a) zero helix angle is used (b) low helix angle is used shown in figure are respectively 

19. A.series of states through which thermodynarnic (c) high helix angle is used (d) any helix angle can be used 

10 KN 
system passes is called 35. The only angle on which the strength of the tool depends, is 

(a) point (b) path (c) process (d) N.A. (a) lip angle (b) clearance angle (c) rake angle (d) cutting angle 

20. In which process heat transfer is equal to change in 36. The process of enlarging a hole is known as 
1m Zm 

(a) counter boarding (D) counter sinking (c) boring (d) drilling (a) 20/3 KN, 10/3 kN b) 10/3 kN, 20/3 kN internal energy? 

(a) lsobaric (b) Isochoric (c) Isothermal (d) Adiabatic 37. The average cutting speed for turning mild steel with a high speed (c) 5kN, 5 kN (d) 6 kN, 4 kN 

21. Mornent of inertia of a semicircle about its x-x axis steel tool is 50. Tool lite increases with increase în 

is given by (r=radius) 
(a) 15 to 19 m/min (b) 25 to 31 m/min 

(a) cutting speed (6) nose radius (c) feed (d) depth of cut 

(a) 0.05r (b) 0.11 (c) 0.22r (d) 0.33 

22. The ratio of normal stress to volumetric strain is 38. During taper turning, the compound rest is swivelled through an 

(c) 60 to 90 m/min (d) 90 to 120 m/min 

angle given by 1(c). 2(c). 3(c). 4(c). 5(c). 6(¢). 7(d). 8{a). 9(a). 10(c). 11(b). 12(a). 

13(b). 14().15/b). 16(o). 17(c). 18/b). 19(D). 20(b). 21(b). 22(¢) 
23(b). 24(b)..25(). 26(0). 27(d). 28(b). 29(@), 30(D). 31(d) 
32(a).33(a). 34b). 35(©). 36(¢). 37(D). 38(a). 39(d),. 40(d). 41( 
42(b). 43(©). 44(c). 45(b). 46(a). 47(b). 48(d). 49(a). 50(b). 

called-
(a) Young's Modulus (6) Modulus of rigidity 

(c) Volume modulus of elasticity (d) N.A. 

23. The ratio of equivalent length of a column, having 

D-a (a) tanp= (b) tan2p= 
2 2 
D-d 

(c) tanp= (d) tan20=d 
one end fixed and other end pin joined, to its actual length 

39. In reaming process 
S -
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ENGLISH 
1. Select the most appropriate words to fill in the blank. 

K aKARMASANGSTHAAN VoL. 36 issus Mo.4B 2 January, 2023 13 
By this time next week, we . 
(a) will have reached (6) would have reached 

(a) Only Conclusion I oilows (b) Ony Conclusion 

tolilows (c) Neither Conclusion I nor Conclusion F 
Shimla. 

(c) would reach (d) shall reach foilows (d) Both Condusionl and il tolows 

2. Select the most appropriate synonym of the given 
25. Select the option in which the givan fgure is 

word. embedded 
ESTEEM 
(a) Disrespect (b) Regard (c) Disregard (d) Criticise 
3.The given sentence contains a grammatical error ldentity the segment that contains the error. She didn't 

(2) thank you for your helip. but she may have done it. 
(a) but she (b) you for your help (c) She didn't thank 

26. Select a figure trom among the four aternatves 

that when placed in the biarnik space (?) of fgure Xx 
d) may have done it 

4. Select the most appropnate opton to subsitute the 
undertined segment in the given sentence. If there is wii complete pattern. (Rotation is not alowed, 

no need to substitute it, select "No substitution 
required 
Madhu is only a daughter of her parents. 

T-:TET JTE (ET 6RTI7-8o o 2, ()| 
(a) the only (6) only one (c) No substitution required 
(d) an only one 

5. Select the most appropniate word to fill in the blank. 
The Covid-19 pandemic has hit many industries really 

(a) 

(a) hardty (6) hardy (c) hard (d) well 27. Choose the alternative which most closely her homework. 
GENERAL INTELLIGENCE resembles the image of tha given figure when miro 6.Select the most appropriate option to substitute the (a) can able to (D) can finish (c) could 

21, Identity the correct option to complete is palce at ngt si0e. underfined segment in the given sentence. be (d) could 
the following series. 18. The given sentence contains a 

8. 13, 20, 29. grammatical error. Identify the 
fs not our book; it must be theres. 

53. 68. 85 
(a) theirs (b) their (c) their's (d) theres 

(a) 40 (b) 39 (C) 35 (d) 36 7. Select the most appropriate ANTONYM of the given segment that contains the error. 

Judy solved the difficult problem by 
her own without anyone's help. 

22. Identity the number that is different 
Word. 

from the rest. 
ABSURD 
(a) Appropriate (b) Adequate (c) Abrupt (d) (a) without anyone's help (b) by her 3 

own (c) Judy solved (d) the difficult 

(a) 625 (b)115 (c)125 (d) 25 

23. Select the Venn diagram that best 

illustrates the between the three given 
Reasonabe (a) D) (c) 

8. Select the most appropniate word which means the em 
classes 28. If KITCHEN is coded as LKwGMKU, then 

SHAMPOO will be coded as 
same as the group of words given. 19. Select the most appropriate one 

Languages, Hindi, Malayalam 
word substitution for the given words Stop something from burning 

(a) Prevent (b) Extinguish (c) Torch (d) Scorch 
9. The given setence contains a grammatical error. Ouners, often for selfish reasons 

One who interferes in the affairs of aO )O o0) (d) O00 
(a) TJDQUUV (b) TJDOTUU 

(C)TJDOTUV (dTJECUUV 
24. Read the given statements and 29. Identfy the odd pair from the folkowing. ldentity the segment that contains the error. 

Kalpana listens old Hindi film songs every evening at 

(a) stranger (b) inierpreter (C) conclusions carefully. Assuming that the (a) Eagle : Swoop (b) Pig:Sty (c) King : Paace ( interloper (d) foreigner 
20. Select the most appropriate opton 

information given in the statements is Bird Nest home. true, even if they appear to be at vanance 30. "Athletics" is reiated to "Stadium" in the same way (a) every evening (b) film songs (c) Kalpana listens old 
to substitute the underlined segment with commonly known facts, decide wmicn 

as "Skating' is related to " 

10. Select the most appropriate meaning of the given 
need to substitute it, select 'No the statements beyond reasonabie douDt 31. Seven employees. T, U, V. W, X, Y and Z, reach 

Hindi (d) at home in the given sentence. If there iS no of the conclusions logically follow{s) from (a) Ground (b) Track (c) Rink (d) Court 

substtution required'. 

Duning the winter months the bears g0 No cat is monkey. 

idiom. Statements: 
their factory in a particular sequence 
immediately before T but does not immediately follow 

Cover u reaches 
(a) Put a carpet under (b) lgnore insults made (c) Hide nout fooa by nearly SiX to seven No monkey is a cow 

of conceal (d) Close something forever 

11. Choose the correcthy spelt word. 

W.V is the last one to reach. X immediately folows T 
and is subsequenty followed by ZW reaches before 

months. Conclusions: 
(a) No substitution required (6) for 1. No cat is cow 

T. Who is the second to reach the factory? 
(a) U (b) X (c) W (d) z 

32. If B 3 and H 9, then SCHOOL=, 

qurte (c) from almost (d) for almost II. Some cows are monkeys. (a) Bileive (b) Bilive (c) Believe (d) Beleive 

12 Select the most appropriate word which means the 

same as the group of words given. 

Confirm or support something 

(a) Collaborate (b) Corroborate (c) Cooperate (d) 

(a) 78 (b)76 (c) 69 (d) 96 

33. Identfy the odd one from the folkowing. 

(a) Volume (b) Small (c) Haight (d) Weight 
34. Six students are siting in a row. Akbar is to the 

left of the persons sitting in the midde, but to the righi 
of Sekhar. Prakash is to the right of Deva, and Ram 

Consider 
13. Choose the correctly spelt word. 

(a) Cioshare (b) Kloshur (c) Closure (d) Klousur 
14. Select the most appropriate meaning of the givenh 

is to the right of Prakash. Ram is second from the 
idiom. 

Make up with (someone) person sittng in the middle. Who is the person sitüng 

in the middle? 
(af Close or ignore the differences with (someone) (6) 

(a) Sekhar (b) Akbar (c) Deva (d) Ram Compensate the loss to (someone) (c) Pick a quarrel 
with (someone) (d) Understand (someone) 35. Which two signs need to be interchanged to make 

given equation correct? 
20 20 20 20 20 20 
(a)and + (b)+ and- (c) and x (d)andx 

15. Select the most appropriate ANTONYM of the 

gven word. 

DIFFERENCE 
36. Select the term that will come next in the tolilowing (a) Similarity (b) Contrast (c) Distinction (d) 
series. Acceptance 

16. Select the most appropriate synonym of the given A, cd, tgh. jkim, opqrs 
(a) uvwxyz (b) vwxyza (c) uwxy (d) tuvwy 
37. In a certain code language, 'go went gone is 

word. 

FRIGID 
(a) Warm (b) Freezing (c) Amicable (d) Moderate 
17. Select the most appropriate option to substitute the 

underlined segment in the given sentence. 

Appointment&Career News 
RECR: 9830624170 

wntten as 'da ma dof, 'he had gone' is written as 

gadol ma', and 'he was good' is written as 'nagaca 
How will had' be witten in that language 
a) ca (b)ga (c) dol (a) ma 

38. 'A B' means 'A is the brother of B. A - 8 
Habi worked late last night and could be able to finish 
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Find the pros9nt aga of Maya ? 

means 'A s the mother of B'. 'A ® means A is the 

tather of B Whch ol the qlowing means M is the son 

(a) 43 (b) 53 (o) 63 (d) 73 

70. Salarlos of A, 8 and C are in the ratio 3:5:7 
rospectively If thair salaries ware incroased by 50% 

60%, and 50% rospectively, what ll be the nw oQ7 

a AM RQ 6)Q M R (c) M +R Q() MRT 
0 Shaty the given dngrain carehily and answer the known as? 

r9spactlve ratio of their salaries? 

(a) 3 6:7 (b) 9 16:21 (c) 5. 9: 14 (d) Ngne of 

Queshon that fvlkws Uday Umosh Lalit (c) Justico Ranjan 
these 

reage (a) Osteoporosis (b) Acromogaly (o) Gogoi (d) Justice Sanjay Kishan Kaul 
71. If x: y 3 2., then find the value of the ratio Fibrous dysplasia (d) Fracture 

45. Which among the following 
nstruments is used to measure either 61. A and B have some guavas divided J0 19 (D) 19:30 (c) 20 19 (d) 20 21 

MATHEMATICS 2 3y:3x -2y? 

direct or aternating electric current? 

(a) Wattmetet (b) Hygrometer (c) give you 25% of the guavas I have, I (a) 12 (b) 14 (c) 16 (d) 18 

Ammeter (d) Pyrometer 

among themselves. A says to B II2. Find the Third Proportion to 3 and 6? 

will still have 2 more guavas than you 
rour numbers are is proportion. The sum of the 

squares of the four numbars is 50 and the sum of first 
Phstydate 

What is the number of teacher who are NENHER UrA 46. In which year was the 'National NOR AOstyaduates 
(a 45 b)85 (c)35 (d) 9 

have. To this, B says "Il you glve me 
two terms is 4. The ratio of means is 3 2. What is 

the average of the four Number ? 
Archives of India' establishod? 

40. Select the corect option that indicates the 47, In which year was the partition of you have. What is the total number of a) (D) 4 (©) 5 (d) 6 

guavas equal to 70% ol what I have 
now, I will have 4 more guavas than (a) 1840 (b) 1830 (c) 1891 (d) 1835 

arangement of the given words in the order in which Bengal carried oul by the British Viceroy guavas that they have they anpear in an English dictionary. 
Lord Curzon? (a) 80 (b) 64 (c) 36 (d) 88 i Declaim 

62. A, B, C and D purchased a cine 74. The Valueof (a) 1905 (b) 1901 (c) 1907 (d) 1911 

48. Which is the smallest bone in the multiplex for As. 56 lakhs. The 

human body? 

i. Decine 

. Decisive 
contribution ol B, C and D together is 

. Declare 
(a) Stapes (b) Phalanges (c) Humerus 460% that of A, alone. The contribution v.Decode 

(a) i, n. i, ii. v (b) i, i, i, m, V (c)v, N, n, 49. Cheraw Dance is a traditional dance of B's contribution and the contribution 

i, inv. i,v 

Pelvis of A, C and D together is 366.66% thata 134134 d) 

526789102 form of which state? of C is 40% that of A, B and D 7 

(a) Assam (b) Mizoram (c) Sikkim (d) together. The amount contributed by D 12+63 -V12-613 GENERALKNOWLEDGE 

41. (a) 355 (b) 356 (c) 357 (d) 359 
50. Which part of the Constitution of (a) 10 lakh (b) 12 lakh (c) 15 lakn (d) 76. What is the unit digit of 

s caused when a child's growing bones tail unachal Pradesh 

to develop due to a ack of vitamin D. 

(a) Night blindness (b) Rickets (c) Goitre (d) Scurvy India deals with the duties of citizens? 18 lakh (327)3(999) (414)24 (342)42 
42. Who is the author of the book "Shame'? (a) Part IVA (b) Part l (c) Part X (d) 63. Mr. Amar spends 50% of hiS (a) 8 (b) 9 (c) 10 (d) 11 

a) Salman Rushdie (b) Charles Dickens (c) Rudyard art 
Kpling (d) Ench Segal 
43. What does Article 32 of the Indan Consttution deala) Study of reptiles and amphibians (b) 25 on travelling. 

monthly income on household ilems 77. What is the unit digit of the sum of First 18 
and out of the remaining he spends whole number? 51. What does Ichthyology deal with? 

30% on (a) 4 (b) 6 (c) 5 (d) 0 

with? Study of fish (c) Study of birds (d) entertainment. 15% on shopping and 78. What is the unit digit of 1679 1183 x 397 2995 

remaining amount of Rs. 900 is saved. 1991 923 is? (a) Righi to Lite (b) Right to Property (c) Right toStuoy of insects 

Constitutional Remedies (d) Financial Emergency 52. Which of the following monuments is What is Mr. Amar's monthly income? (a) 6 (b) 4 (c) 5 (dj 0 
(a) Rs. 6,000 (b) Rs. 12,000 (C) Rs. 79. The volume of a right circular cone is 924 cm°. f 44. Wnat Is the loss of bone density and strength aiso known as the Taj of the Deccan'? 

9,000 (d) Cannot be determined (a) Qutb Minar (b) Bibi ka Maqbara 

(c) Chand Minar (d) Mahabat Maqbara 64. In a test consisting of 80 questions is: 

53. Who among the following developed carrying one mark each, Ankita (a) 154 (b) 132 (c) 176 (d) 198 

its height is 18 cm, then the area of its base (in cmP) 

the Cholera vaccine in 1885? answers 65% of the tirst 40 queslions 80. If a + 4b+49c+ 18 2(2b+28c-a). then the 

(a) Edward Jenner (b) Jaime Ferrán (o) corectly. What percent of the other 40 value of (3a+ 2b +7c) is : 
Jonas Salk (d) Leon Calmette 

54. Which of the following states has 

questions does she need to answer (a) 0 (b) 2 (c) 1 (d) 3 

correctly to score 80% on the entire 

the highest coal reserve? test? 

H.S. 13F ENGLISH (a) Chhattisgarh (b) Odisha (c) (a) 60 (b) 80 (c) 95 (d) 40 

Jharkhand (d) West Bengal 65. In a college election tought between 1(a). 2(b). 3(d). 4(a). 5(c). 8{a). 7(d). 8(b). 9(¢). 10(c). 

55. The procedure for the nomination of two candidates, one canidate got 55% C). 12(6). 13(©). 14(a). 15(a). 16(b). 17(d). 18(b). 

members to the Rajya Sabha in the of the total valid votes. 15% of the 19(c). 20(d). 

Constitution of India is borrowed from votes were invalid. If the total votes 
RPO 8&0o (QCACA GENERAL INTELLIGENCE 

which of the following countries were 15,200, what is the number of 
21(a). 22(b). 23(c). 24(¢). 25(d). 26(b). 27(b). 28(a). valid votes the other candidate got? 

(a) Russia (b) Germany (c) Ireland (d) (a) 7106 (b) 6840 (c) 8360 (d) 5814 
constitution? 

29(a). 30(©). 31a). 32(0). 33(b),. 34(¢). 35(b). 36ta) 

US 66. The central government granted a 37(©). 38(6). 39(b). 40(d). 
56. What does Article 360 of the certain sum towards flood relief to 3 GENERALKNOWLEDGE 
Constitution of India provide with? states A, B. & C in the raltio 13 17: 

41(b). 42(a). 43(c). 44(@). 45(c). 46(c). 47(@). 48(a). (a) Right to lite (b) Financial emergency 19. If C gets Rs 420 crore more than 
49(b). 50(a). 51(b). 52(b),. 53(6). 54(c). 55(¢). 56(b) (c) Right to property (d) Fundamental the slate A, what is the share of B 

duties (a) 1170 crore (b) 1180 crore (c) 1190 57(b). 58(b). 59(a). 60(a). 
57. The Ratle hydro-electric project is Crore (d) None of thhese 

being constructed in which state UT? 
(a) Arunachal Pradesh (b) Jammu and torm of currency noles of denomination61(0). Let A has x guavas and B has y guavas, the 

Kashmir (c) Sikkim (d) Assam 

MATHEMATICS 67. A person carries Rs. 165/- is the 

Cortt RRDI 
Appointment&Creer News 

Rs 5, Rs. 10 & Rs. 20 in the ratio of 3 

:2 :1, what is the value of currency 58. Which country is the winner of the 

2022 FIFA U-17 Wornen's World Cup'? notes of Rs 20 denomination ? 

(a) India (6) Spain (c) Brazil (d) (a) Hs. 70 (b) Rs. 80 (c) Rs.60 (d) Rs 
And y-Y XtY- (i) 

Colombia 100 

59. 'Pushkar Mela' is the flagship Solvlng () and (), e get 
68. It- 1 4, 1:8 and a = 2, x = 44, y 20 cultural fair held in which Indian �late? b 

Total guavas = 44 +20 64. 
62(d). AB+C+0 = S6, B+C+D = 4.6A 

(a) Rajasthan (b) Punjab (¢) ASsam (d) then the Value ol C is -

Goa (a) 8 (b) 16 (c) 32 (d) 64 

60. Who has sworn in as tho 50th Chief 69. 3 years ago, the ralio of Maya's and A+B+C+D = 5.6A (adding A in both side) 

Shikha's age was 5: 9 respectively. 56 Lakh 5.6 A Justice of india? 
RER:9830624170 (a) Justice DY Chandrachud (h) Justico Ator 5 years. this would become 3 5. A- 10 Lakh 
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76(a). (7)s -(7)1 7' - (1)*7' -7 
(999) -(9)3* 9 - (1)373 x 9 9 

(414) (44)1 (6) - 6 
(342)1 (2*) (6) 6 

Unit digit-7 x 9 6 x 6 8 

T(o). First 181 whole number 0 to 180 
Sum of First x natural number - n{n+1) / 2 

(Name of the candidate), hereby 

declare that all the information 

submitted by me in the application 

form is correct, true and valid.I will 

present the supporting documents as 

Similarty. A+C+D B 
Ar 1AT1, 19: 7sa 

AB-C+D B and when required. 80x 181 
2 B 12 lakh = 5 unit digit 

Similarty, 4(A+B+D) = C 

A+BD 2.5C 
A B+ C+D 3.5C 
C = 16 lakh 

Therefore D (A+B+C+D) - (A+B+C) 

Toc). Unit digit - 5 
When 5 is multiplled with any odd number the unit digit 21AI 9T AI R7 94o (TA 

will be 5 

T1 , AT), TST , 
79(a).(r)x 18 = 924 

18 lakh 
63(a). House hold expenditure = 50% T = 154. 

6 Remaining = 50 % 

On remaining amount he spends 80(b). a + 4b 49c+ 18 2(2b + 28c a) 
(a) +(26 + (70) + 1 +1+(4) = 4b + 56c-2a 

(a+1) + (2b-1)+ (7c-4)2 = 0 

Travelling = 25%, Entertainment 30% 

Shopping= 15% 
Total 70% Remaining = (100-70) % of 50% 

8, A. 3>, 6.A.M. aa, Ti3t , 199 >,08afTI97 T4 

MAA furoia &od ((1: 9, JsE51 ) 
31 3M. So, }.U97. 8)1 

Rest amount900 = 30% of 50% a --1,b2.C7 
15% = 900 so, (3a+2b+7c) = (-3+1+4) = 2 

100% = 6,000 

64(c). Total marks of test = 80 

Ankita scored 65% of 40 question (1 mark) - 26 

s, BI:T, s.M.M, o, 797 But she needs to score 80% of entire test 
= 80% of 80 = 64 marks 
So. she needs = (64-26) marks = 38 

Percentagex% of 40 38 
k= 95 TU9A. , 6..M. 4, TST 8, 33:s1: 

65(d). Let total votes = 100%, Invalid = 15% 
R)I 

Valid votes = 85%, 1st candidate = 55% of 85% 

So, 2nd candidate 45% of 85% 9. s)I 71Rsy S286 (CSAI 

, U a, sS:T1 , 3.A.. J1, 

AICA ¢,bto bRAII ATA : t,bco-do,2oe D1| 
According to the question, 

100%15200 

85% 12920 
Other candidate got 45% of 12920 = 5814 vote 

66(c). (19-13)r 420 crore 

HA T5TRAIR R: WCLIR MP/ 

Recruitment /2022-23/2445, Date: 19 , 918 3, TTs8 , 3.R.M. >», 

T, fAI, 77, T, 17AVI, PtTy, U7a7. 1)1 T.fe.6.-1 1.>> 
ATATR, fny, cUsA, 7tR, , U1, CTG (Al 8t, 3:1 vo, TT:911 >, 

HTR, 9TRTB, THRTAR (19T), 174, FANA, PO, s.A.M. 8, TU4. 4)1 F97.f.3. 

TAC , AS:1113, 0A1, Tq3, I51, CDE, >¢»+ (AIE 14, EFT R,T®:|E , 

31TA, AII, 7R7, I ICA, T1, TY, 941, 3.R.M. O, Z.5.97. >R)I Ti* 

I, TPIO1 CAI -I1, FPU ASTS14, MB, 5TKDT, 

1-2023. 

6r420 crore 

ir70 crore 

17r17x701190 crore 
67(c). Ratio 3x, 2x, x 

ATQ 15x + 20x + 20x = 165 oT (CATE 84, 3718 >, U:T8 4, 

55x = 165 or, x = 3 

Value of currency Notes Rs. 20 = 3 20 = 60 

68(d). 

(CA1 Sa, G:913 &, GIT:T18b, 

a:b 1:4 
b:c=1:8 

a:b:c= 1:4:32 
1r 2 

3264 

69(a). 3 years Ago 5:9 diference 4 2 

After 5 years 3:5 diference 2 x 4 

New Ratio 
3 year Ago10:18 
After 5 years 12:20 

2r 8 years 

1r4 years 

NT4 sTT t http:/ AETA 4f1G -co M &o6 a, (R) CSTA1.f1.. , .797. &)i 1F 8 
westerncoal.in 4 4 49T -CA 

(H Bos7 ff A) o 7I ojd , t , UrE: , a.RM. S. 

Age of Maya = 10x 4*+ 3 = 43 

70(b). Ratio 3:5:7 Ar 1f TS fTSCAaI afaietiB - o A , U:S1 e, T®T: 8a, s.RA, , 

3x150. 5x 160. 7x 150 
100 New Rali0 100 100 TANS, o TA 3of0 a1, () afca® , r1t 4, 38:31 8, s.AM >, Ttt "Western, Coadfields 

or 45 80: 105 or 9: 16:21 

71(a). x 3k, y 2k 

2x+ 3y= 2 x 9k+ 3 x 4k 18k 12k2 30k 

3x3-2y2 3 9k - 2 4k2 19k 

Ratio 3Ok2 19k = 30 19. 

72(a). 73(a). a : b: :c:d 

a+b + C+d? z 50 

Limited, Nagpur'9a TTIARTA 

a, E:918 b, 3.M. S}U9A. 8)r 

8 716 CC .E,4A. 8)1 *3 to (CM8 9, 

a +b = 4 

2 
The General Manager (PAR), Industrial 

b 3 www.licindia.in/careers.htm, www.licindia.in g 4 H. 9)1 
b:C 3:2 
a 4-3 = 1 

19+4+d 50 

Relations Department, Coal Estate, 

Civil Lines, Nagpur440001. AT 

3+T = 3 
Average 
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